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HIT/ PART |

9T 90 fATe

Time : 90 Minutes

quries : 90

Max. Marks : 90

ey & forw ﬁéET/ Instructions to Candidates
W%Wéﬁﬁmﬁwﬁv@lﬁﬁa‘sﬁaﬁmﬁwﬁm

Read the following instructions carefully before you answer the questions —

AHERIS  AgaT 99T use 90 M9e § 1 Mental Ability Test shall be completed in first

BT | e fers Tradar aferor fra
SITQATT |

AFRYS Irgar oerr B yeEl & Sow
fey v SR I w ey

UH 90 e & wuifd W a+fRye
AFGAT ST BT IR UNG o o
SITQAT |

AUAT NS TR, ST fF a9 uder g
# fRar R, e faRay (v dfew
HI TP HP) A & I b BIS dtay
Raa 7 v& oy |

S

90 minutes. Scholastic Aptitude Test will
follow it.

Answers of the Mental Ability Test is to be
marked in givén OMR sheet.

The Mental Ability Answer sheet will be SE(
collected after first 90 Minutes.

Please write your Roll No. as given on your
Admission Card, very clearly (only one digit
in one box). Please see that no box is left
unfilled.

Example :

3lalol*[sTo[2]o [3[2[i 5]

[s]s]of1]8fof4 o 3]2]1]5]

TE OET T AT H R | MIT — gery
90 UeH & | AP U U&H 3P BT & |
AFRIS IaaT —45 9E(1 @ 45 ad)
Rt — 25 ye (46 @ 70 T)
IS — 20 Ue (71 | 90 aP)
ISP U BT SR STR—UFF § I
UeT §=T & 9 ey U et § |
el fdwen arell weam & aiad § v
AT @ e BT B SR TR
HTAT 7 BF R ¥B-R gRT 9 U O &)
e g ademeff & 2rfi| ofe sox
TAT B UR ggol9T =18, af 99 v&av J
fAeTer siae § W &) i @ woa 2

The test is in two Parts, Part — I consists of
90 questions. Each question carry one mark.

Mental Ability - 45 questions (1-45)
Hindi - 25 questions (46-70)
English - 20 questions (71-90)

One oval of correct Answer should be
darkened by the candidates with HB pencil of
corresponding question of the OMR Sheet
If scanner is unable to read the darken oval
then all the responsibility lies on the
candidate. If oval is wrongly filled by the
candidate he is free to erase it & darken the
correct oval.

e : 39 GRAPT H U AT TR TF B B B 1w Ry T oI TR e B Dl pey
@ SfRaT wef go 7 forRay |

Note — Do not write anything anywhere in the booklet except your Roll Number and Rough Work at
the place meant for it. '



Y¥(1-3) / Questions(1-3) FT : UAF 9o § & wwew oo <€ 7F ¥ R UH Y& TR
. Fo o e () @ wwfar o R @ 9 ww avh & 4 Ry v AR Rt

(W) 4 9 Up 2| 98 g @ —

Directions : In each question there is a number series with one term missing shown by question

mark(?). This term is one of the alternatives among four numbers given under it. That number is —

(D).  2,6,12, 20, (7),42

(1) 28 (2)30

(3) 32 (4) 34
(2. 41,31, (), 17,11,5

(1) 19 (2)21

(3)23 (4) 27
&) 3,7,15,31,63, ()

(1)92 (2) 127

(3) 115 (4) 131

Y¥(4-6) / Questions(4-6) w1 : 7 wedll # wew ¥ v W@ v A HH 4 & TS T,
WWWW%IHEW%%@W@Wﬁ@W%IWW?—

Directions : These questions consist of a number series which contains a wrong term. This term is
given as one of the four alternatives among the four numbers given below. The wrong term is -

4). 1,6,11,22,33, 46,61

(1 (2) 46

(3)33 4) 11
G 1.3,7.15.27 63, 127

(17 (2) 15

(3)27 (4) 63
(6). 89,78, 86, 80,85, 82, 83

(1)78 (2) 86

(3) 80 (4) 85

¥¥(7-10) / Questions(7-10) FI&eT : U ye § WR wHE ¥ | UH g 99 & WE O e
3fe & =1 &) 59 T | @y SRk -

Directions : Each question consists of four groups. One set is different from the other three in
someway. Find out the different set —

(7). (1) UXVY (2) KNLO
(3) PUSQ Gt W € Wi 53
U Sy
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(8). (1) VWUX (2) SURT
(3) BDAC (4) PROQ

). @1)37 (2) 87
(3) 73 (4) 59

(10). (1) 7= / Cloud (2) 919 / Vapour
(3) 9TRET / Rain (4) BIET / Fog

T¥(11-13) / Questions(11-13) Feer : fr yet § v 3R #ofl & ¥ 2 R ¥ ue ue
qﬁé,ﬁﬁmw(?)ﬁamwﬁlﬁwﬁwﬁwmﬁwﬁl

Directions : In the following questions there is a letter series with one term missing shown by (?).
Find this term and encircle its serial.

(11). XYZ, CBA, UVW, FED, (?)

(1) RST (2) GHI
(3) HD (4) STU
(12). ABZ, BCY, CDX, DEW, (?)
(1) EGL (2) EFV
(3) EFX (4) EGH
(13). A,G,L,P,S, (?) .
()X @)Y
B)W 4 U

5¥(14-16) / Questions(14-16) & : ydid wew # 9o Ry 7w 2 ITP I}/ e} 9y
ﬁmm@ﬂ@ﬁﬁﬂs‘%lmmﬁwgﬁa%w(?)ﬁﬁﬁmwﬁw
Ra w1 =7 & forg @& Rwer gfig|

Directions : In each question there are circles. Certain numbers are given inside/outside the circles
according to a particular rule. In each question one of the circle has a (?) mark inside it. Choose the
correct answer to fill in the space marked (?) from the given alternatives.

2 3 5
ONOTO!
4 3 2

(14).

(1) 10 2)8
3)7 46
I F

NMMSE 18 - MAT P.T.O.



(15). 3 | 7 11
24 68 | 1@12
5 9 i3
(1) 42 (2) 44
(3) 46 (4) 48
16. 3 4 6
54 65 8 @7
2 3 5
(1) 24 (2) 26
(3) 28 4) 22

9%(17-19) / Questions(17-19) fcer : Freifhd geat § & 7% ser AP & 7B R Uy
%lmwﬁﬁmwawﬁmﬁﬁwmmwﬁmgﬁm ‘

Directions : These questions are based on letter series in which some of the letters are missing. The
missing letters are given in the proper sequence in one of the alternatives among the four given under
each question. Find out the correct alternatives for each question.

(17). a_ba_bb__ab__aab_a

(1) abbba (2) baabb

(3) bbabb (4) aabba
(18). _b_ab_cb_a ¢

(1) accba (2) abacb

(3) cacab (4) bebec
(19). ab__bc_c_ba_c

(1) aaab (2) caab

(3) bcaa (4) cabb

U¥(20—22) / Questions(20-22) T : T & =t wueh § @ Uh QUS Gl BIST AT & oI
mmﬁm%@ﬂé%wmﬂmmmwmélwﬁwﬁm
PR @S (?) & fog Sfera fadey gfig |

Directions : Out of nine cells of a square one cell is left blank, and in the rest of cells numbers are
written which follow some rule. Get the rule and find out the proper option for the blank cell (?).

T &

NMMSE 18 - MAT P.T.0.



(20). 5 8 T :
I 17 15
21 33 8 .
(1)29 (2) 31 A
(3) 28 (4) 33 .
(21). 19 3 25
17 | 11 39 e
9 5 (€3]
(1) 25 (2) 23
(3) 21 4) 19
(22). 5 7 74

11 8 185
13 (7 205

(15 (2) 6 -

3)7 ' 4)8
yei(23—24) / Questions(23-24) e : et & Twiv MU oy W amRa Tl @ wd
faeeq gy |

Directions : Find out the correct alternative of the questions based on the Dias ﬁguteq

"B D

M @) 3) )
36 4 B AT o W) B Fw=r g8nfl ?

The number opposite side the face having the number 4 will be ?

(1 _ 2
3)3 *5
) ) 3) ()

3 3 B fAwId Uo W ST Hear gl ?

The number opposite side the face having the number 3 will be ?

(1 )5
(3)4 (4)6
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(25). uﬁﬁ%gamgamﬁﬁmmé%aﬁmﬂﬁ%mwm%?

If Ajit is the brother of the son of Sethi’s son, what is the relationship between Ajit and Sethi ?

(1) TERT 91 / Cousin (2) 98 / Brother
(3) wefrT / Nephew 4) q\!ﬁT/ Grandson

(26). Wgﬁ%ﬁ“ﬁﬁ@ﬁ?ﬁﬁ"7"?%@?%"4"%%%%‘?"2"
T8 B

How many “7” are there in the following sequence which are preceded by “4” but not
immediately followed by “2” 7
472723597475247947847 1
(11 , (2)2
(3)3 4)4

7). afém—qéﬁaﬁvﬁgwmwwgsnéﬂﬂﬁwlﬂawaﬁ?aﬁﬁwaﬁ
mgmamm%vaﬁ?ﬂwmammﬁaﬁrﬁm%:ﬁaﬁw%‘?

Sohan stands with his face pointing to the South-East direction. Sohan walked 15 meters and
then turned Northwards and walked another 12 meters. How far was he then from the starting

point ?
(1) 12 HIER / meters (2) 10 HIER / meters
(3) 9 HIER/ meters (4) 5 HIEX / meters

U¥1(28—29) / Questions(28-29) F1er - Ry 7v fRpedt 3 I U Bl T BT |

Directions : Find out the missing one from the given alternatives.

(28). 08:27 ::(7): 64

(1)24 (2)25

(3)27 (4) 28
(29). 42:56 ::110:(?) §

(1) 132 (2) 136

(3) 144 (4) 148

(30). faw 7y o & Poqell @Y e fead anfr ?

What will be the number of triangles in the given figure 2

(1) 10 W @14

3)22 (4) 24

”-mm&
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U%(31—34) / Questions(31-34) Fder : N9 & 7€ Aro) § =y 1 W= 0 fau g1 W™ 1
ﬁ%@waﬁﬁ%@aﬁﬁwnﬁmmmwémwwmﬁ
Tl & o A A W 1A o R R 1 BT W T B T e § e ok
U8 MY U9l B 9TR § —
Directions : In the below table Column I and Column II are given. In column I below, some words
are given. In column II, their codes are given but they are not arranged in the same order in which

they are in column I. Study the letters in both the columns and find out the code t

each of the following questions.

(31).

(32).

(33).

™ I/ (Column — 1) XA¥™ I/ (Column — 1)
SNAKE - lhbyg
METAL ygqpu
SUPER ymdha
HOTEL ukqwy
PEONS ywhml
SMART auphg

‘E’ &1 Hidiad AR 8/ Code letter of ‘E’ is -

()a 2y
(3)b 4)w

‘A’ BT Himfad AR 2/ Code letter of ‘A’ is :
(Dp (2)u
3h 4 g

‘S’ BT Hidlid JER &/ Code letter of °S” is :
(Dh (2)d

(3) m 4)a

‘R’ BT Hidiad 3NeR &/ Code letter of ‘R’ is :
(I)g (2) m

(3)a @1

o the letter given in

9¥(35-36) / Questions(35-36) e : Fr=ifba weat o wg (e /e /Rre) & whafi=
Tyor f

# giee SR © | U B Rl § E &) Ry Ty Ret § v wRifa

Directions : In the following questions visualize the image of the correct item.

NMMSE 18 - MAT

P.T.0.



33). STROKE g M;;ru‘;r
(1) 2TA0319 (2) EKORTS
(3)ROKETS (4) H204T2

(36). @ Mai;cruc;r
JEAE 208

(0 (2) 3) )

U¥(37-39) / Questions(37-39) Frder - f= wot 4 © ym i AR—aR Ry Ry 7y g
sﬂﬁﬁ@%ﬂ@ﬁﬁ%ﬁﬂﬁ@ﬁlw%ﬁzﬂwmmﬁml

Directions : In each of the following question four figures are given. One of these figures does not fit
the rest of the figures. Find out that correct serial number.

M EENARS

() ) 3) (4

DAy <N | o
& | XS | [T
(39). (1) (2) 3) (4)

[T 10O | X | ]

(1) 2) 3) 4)

(37).

(38).

NMMSE 18 - MAT P.T.O.
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ue(40—42) / Questions(40-42) e « Rl & a1 w9g Ry T 2| v W - qon
GENT ST — o3 @1 v | g o B fB0 ve 9§ waRed fear 2| ek REi A 9@
T s @1 T BRAT 8 S U @ AR 3 ST O 9% | 9afa 9oR e @
el HHID ST BT |

Directions : Two sets of the figures are given. One set of question figures and another set is of answer
figures. Question figures are arranged in a sequence. One figure from the answer figures is to be
selected such that it can be placed after the series of question figures. Find the correct serial number

of the selected answer — figure.
(40). UT—{F / Question Figures

AN AN R va avs

IR @A/ Answer Figures

| ]

| j | f | j 1 f
’ (n (2) (3) (4)

(41). -3/ Question Figures

au O @0 0] A

[(Q] [ A o <

I} T/ Answer Figures

Bl

O A | S O |
(2)

(1 2 3 (4)
(42). UeA—fF / Question Figures

Wl

IR =/ Answer Figures

[ | ||

(H (2) (3) (4)

NMMSE 18 - MAT P.T.O.
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Te(43—45) / Questions(43-45) fder : Fr=foRaa uesi # (1 o) & @13 3R < W% & ApiaAl
¥ g W B 9 A SR SR ® a1 ual H ® O W Ue ug oW g1 fRy Y

fadedl # & 99 W Ug Bl A

P |

Directions : In the following questions there is some relationship between the two figure on the left of
(: :) the same relationship exists between the two terms on the right in which one is missing. Find the
missing one from the given alternative.

(43). 99—/ Question Figures

@.

IR &I/ Answer Figure

S

>

(1)

(2)

(44). weF-fFF / Question Figures

4)

OV

SR @/ Answer Figures

X

&) &

G-
Q
< I
2

(@)) (2) )
(45). 99— / Question Figures
Ao (D= taf| 2
IR o3/ Answer Figures
(1) (2) (3) )
TF HRT

NMMSE 18 - MAT

Pali©r
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(46). IR T H AN & —
() faT (2) HHIRY
3) &% (4) ggdife
@7). ‘I8 TRal R R ysr| Y@ifed o & e & —
(1) FXT RS (2) sfrEROT Bivep
(3) 9 BRP (4) &t FR®
48). fr=falRaa ¥ 9 fwafeene e & —
(1) (2) -
(3) | (4) !
49). fr=faRed ¥ & arge o & —
(1) Soae (2) IrmERYY
(3) e (4) ufRrer
(50). Z 71 <of smueft gTeIREr goR | XeEifhd W @y aef & —
(1) TR (2) gt
(3) Tt (4) T
(51). o TTell 1 W WS | R Wi B Y v v wgad @ —
(1) srca (2) 3R
(3) srwrcT (4) 3R
(52). fFr=feaRed & 9 dog9 wreg 987 & —
(1) @ (2) i3
(3) T (4) s |
(53). ‘SIre—dier BIFT|" qETaR BT 3ef BN —
(1) <rer & S (2) 1 g€ I
(3) T=8 ® BT (4) 591 BT
(54). FUITER BT AT Fell WRaT & —
(1) 3rHTTRT BI (2) gforr &1
(3) =geft @1 (4) st @1
IF F

NMMSE 18 - MAT

P.T.O.
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(55). “HEfY TR, THAR—RR | T § SR & —

(1) 7186 (2) S
(3) argoma (4) e
(56).  ‘IgeqIfed W | SUHT § —
(1) &1 (2) 3
(3) 317 (4) =a
(57). ‘& 9 HITH HYI Aol | Aerdy g9 8 2
N&+7 (g +¥
(3= +9 4)F + 9
(58). VfEe g ® yd € —
(1) & (2) 3
@)@ (4) f
(59). Hfead — =R I Fdao—vde &1 aal gl & —
(1) ®91 — 95 (2) T8 — W&
(3) 9Tgel — W= (4) & — TIEA
(60). Fr=iferRRad # & agwa 9 & —
(1) (2) 3
(3) #fct (4) o=

fde— FAafaRed TgaEaReT F1 ueHR uvE W 61 ¥ 65 9F I ST
R 7 89 [T & 99 I8 SS9 By & — ay fHvasy 9% [ uRaay §
ST S Ufa3 3R ¥ AFER T ARAT BT 919 WEH ¥ | NS B Wy A} 9
FARY QR WP BT e R X6 B | GAR I H MU A6 | fvem s
TG Tl g9bR 71 AT FHRA GReTER B ¥ |

(61). Tar faeawy AR BT S fhar & —

(1) =0 F=1 7 (2) =R—gfat =
(3) & A (4) Tarat J
6 FY

NMMSE 18 - MAT P.T.O.



(62).

(63).

(64).

(65).

14

GATR BTl H TS’ T § o gy —

(1) =y (2) T
(3) aret (4) o oy
AT ufgm R gog A § —

(1) & B1 (2) I FY
(3) am=1 BHY (4) Tarat @
ufe sy’ wreg B fadm BRI —

(1) srafa= (2) gou
(3) srgafe= (4) wgfer
AT I BT A frese g —

(1) 3/ + 3id (2) g + @
(3) aifer + afet (4) o + i@

ﬁwmﬁmﬁwwm—

gafhar Ry # MaraR o 2
ST—SITHR GTefl 81T ey Mmar 21 |
e 7 wew & A ey o A
3T AT STAT8 ST 2% H ||
930! SHS! Well X aR 8T B |
BIRRT HA a1l @Y &7 727 2@ ||
(66). R oreg @ aref & —
(1) =< (2) drema
(3) am (4) =
(67). Tl BT GITHR B 37T & —
(1) Ry (2) TaER
(3) #reir (4) SaTE
(68). HIe e & — |
(1) &S & : (2) &R Y H
(3) &Y R (4) @Y 78T
(69).  BIRIET B qreil @Y T By —
(1) s (2) fasma
(3) &R (4) =iy
T Y

NMi 5E 18 - MAT

PT.0.



(70).

Q. No. 71-74 -Read the following passage and answer the question given below:-

(71).

(72).

(73).

(74).

15

e g BT 37 7 —
(1) =TS (2) wfe-g
(3) TR (4) smart

Hadoti is comprised of four districts of Rajasthan — namely Baran, Bundi, Jhalawar
and Kota. It is said that Hadi Rani, a legendary character was married to Chundawat chieftain

of Salumber.

The chieftain loved her so much that he felt reluctant to go the battlefield. The Hadi
Rani persuaded him to comply with his duty towards his motherland. But for her love he
would not agree. Somehow he agreed. Before leaving the house, he sent a man to his beloved
to give him a memento. Out of sheer disgust the Rani Hadi cut her head off the neck and sent

it to him.

Hadoti is situated in the state -

(1) Rajasthan (2) Madhya Pradesh
(3) Maharashtra (4) Utter Pradesh
Hadoti is not comprised with district -

(1) Kota (2) Jhalawar

(3) Bundi (4) Jodhpur

Who was a legendary character ?
(1) Chundawat chieftain (2) Hadi Rani
(3) King (4) Hadoti

 Hadi Rani sent a memento, it was -
(1) her head (2) her ring
(3) her hand (4) her thumb

Q.75 - 76 Choose the correct articles for the blank space:

(75). © A computer is electronic device which stores information in. it.
(1)a (2) an
(3) the .(4) None
(76). The battalion had to march through hot sand of the desert.
(1)a (2) an
(3) the (4) None
6 FH

NMMSE 18 - MAT

PO,
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Q.77-78. Choose the correct prepositions for the blank space -
(77).  The bhikshu was silent a long time.

(1) for (2) about
(3) at (4) of
(78). Divide these chocolates the students of class 8,
(1) between (2) among
(3) in (4) with

Q.79 Choose the opposite gender for given word —

Gentleman
(1) lady (2) woman
(3) maid (4) gentlewoman

Q.80-81 Choose the correct opposite word for the given words -

(80). Pleasant
(1) inpleasant ' (2) unpleasant
(3) impleasant (4) displeasant

(81). Spend

(1)earn (2) work

(3) sell (4) help
(82). Choose the word which is misspelt —

(1) commanded ' (2) haert

(3) encourage (4) empire

(83). Choose the word which is spelt correctly
(1) miserable {2) mesirable
(3) misareble (4) misearable

Q.84-85 Choose the word which have similar meaning -
(84). Purpose

(1) aim (2) solution
(3) huge (4) support
% &Y

NMMSE 18 - MAT P.T.O.
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(85). Chance
(1) humanity (2) responsibility
(3) opportunity (4) scarcity

Q.86-87 Choose the carvect answer for a group of words -
(86). Without any error

(1) wrong (2) similar

(3) mistake (4) accurate

(87). To take someone’s child legally -

(1) adopt ~ (2)deny
(3) agreement (4) donate

(88).  Choose the plural word for given word —

My self
(1) myselves (2) ourselves
(3) themselves (4) himself

(89): Choose the correct form of verb for the blank space —
I always buy mangoes but last week I bananas.
(1) am buying , (2) buy
(3) bought (4) shall buy

(90). Choose the correct arrangement of words to make a sentence —
My/ lost / 1/ book/ have

(1) My book lost I have (2) T have lost my book
(3) Lost book my have I (4) Have 1 book my lost
ERE TS
% T

NMMSE 18 - MAT
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Roll No.

NMMSE 18 - SAT

A T A ARe WHIARRT v haT — 2018

227137

(P&ET — 8 # Iemu=Ra faenRfay & faw)
NATIONAL MEANS-CUM- MERIT SCHOLARSHIP EXAMINATION - 2018
(For Students Studying in Class — 8)

SiféTe Fivgqar gfeyor
Scholastic Aptitude Test

|/ PART Il

HHY : 90 e

Time : 90 Minutes

et & fore Iilé‘él/ Instructions to Candidates

quTies : 90

Max. Marks : 90

Read the following instructions carefully before you answer the questions —

1 AT U TR, O B ST Uy gx
H fear w2, e forfay (e dte
DI TP 3fh) U8 UM W fF P ey
Raa 5 38 S0 |

SEIESU

1

Please write your Roll No. as given on your
Admission Card, very clearly (only one digit
in one box). Please see that no box is left
unfilled.

Example :

3(3(0(1(8|0(4 (0|3 |2[1]|5

3(3(0(1/8|0[4|0|3|2|1]5

2 HT — fgda & 90 o 2| u s
Ueh 3fd BT 2 |
el fasm —35 gs1(1 @ 35 %)
ST fasm—35 ye= (36 @ 70 a®)

TR — 20 YT (71 | 90 D)

3 UP YT Bl IR SA-UFF H I
U HE& & 9HH fou v fAeedt 1§ 9
el fddmeg arell =T & siger # g €}
Ifaer @ e &raT oY AR TEN
BT 1 BF WX BN gRT 9 Ug oI @1

Part — II consists of 90 questions. Each
question carry one mark.

Basic science — 35 questions (1-35)
Social Science - 35 questions (36-70)
Mathematics . =20 questions (71-90) SEscgal“

One oval of correct Answer should be
darkened by the candidates with HB pencil of
corresponding question of the OMR Sheet
If scanner is unable to read the darken oval
then all the responsibility lies on the
candidate. If oval is wrongly filled by the
candidate he is free to erase it & darken the
correct oval.

e : 39 gRAADT H AU el TR U R BRI B Y Ry Ty M R S 35 B B

@ sffaRead & @5 = foRay |

Note - Do not write anything anywhere in the booklet except your Roll Number and Rough Work at

the place meant for it.
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(1).  fIef®T A @ &0 ¥ B= a7 T ST & —
Which disease is caused due to lack of vitamin A
(1) cfeh / Night Blindness (2) R&®ed / Rickets
(3) FTRRIRBRR / Kwashiorkor (4) TTTE / Goiter
(2). 3T B T & wEEET ¥ Ho Rrerar © 7
With the help of which organ Amoeba Swallows the food ?
(1) ST/ Tongue (2) 9re™1 / Pseudopodia
() 9 TfeHT/ Mouth cavity (@) 3T/ Intestine
@). =N fAsor BT SerEwr & —
The example of Homogenous mixture is : -
(1) oreFpR T Y 6T AT/ Mixture of sugar & milk
(2) X g AR BT f¥319T / Mixture of sand & iron
(3) faeer g g &t 38197/ Mixture of mud & water
(4) T T U BT 35791/ Mixture of oil & water
(4). AR Mg) + SifRAIST(0,) — AR JATRATSS (MgO)
Magnesium (Mg) + Oxygen (O;) —» Magnesium Oxide(MgO)
SIRIRT IRIAT & —
The above change is - .
(1) i / Physical (2) IM™AMF /' Chemical
(3) & / Mechanical (4) SIfa® / Biological
(6). Rt AIfETW 1€ P A AR B B W A9 Sae By © 7
Which gas is produced when acid réacts with Sodium Bicarbonate ?
(1) Ha (2) 0,
(3) CO, (4) HCI
6). sgfe BMEE @ & A BT & —
Lack of insulin hormone causes -
(1) 9gHE / Diabetes (2) ®wpdl / Scurvy
(38) TIUS / Goiter - (4) K—0 / Beri-Beri
I H

NMMSE 18 - SAT ; Pl O



(7). Fr=fafea 4 @ iga o & —
From the following the extinct animal is -

(1) ORT W&l / Star fish (2) ¥g=Y ©TST/ Sea Horse
(3) SIEAMIR / Dinosaur ' (4) I3/ Crow

(8). XTSI &I T el ® —
The state Bird of Rajasthan is -

(1) ¥R/ Peacock (2) T=_T@YT/ Godavan
(3) @/ Parrot (4) ®YARY / Pigeon

(9). STeiry Sfial & gaw+ BT & — .
The respiration takes place in aquatic animals is through -
(1) TABS / Gills (2) ¥/ -Stomata
(3) WS / Lungs (4) arg et/ Air tube

(10). =TT ARETSH BT GRETT YT BT & —
Human Brain is protected by -
(1) @9SI / Skull (2) 3T / Ulna
(3) B[MYY/ Humerus ° (4) BR / Femur

(11). =@ T °9F & —
The unit of Pressure is -

(1) =&/ Newton (2) Miex /9. / Meter/ Sec
(38) =g+ /¥Iex? / Newton/m? (4) Sfet / Joule

(12). ATGLY, &1 9T B —
The Part of C.P.U. is -

(1) FHRY / Memory (2) 9199 / Mouse
(3) @1 dI¥ / Key board (4) =R/ Scanner
IF F
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(14).

(16).

Tl BT qF & —
The formula of speed is -
(1) =TT = oy Efﬁ' TS g Speed = The distance travelled
W qT B H o HA Y The total time taken to travel the distance
ELU Distance

(3) lel = @XQTFRJ
@ am= IR __Weight

EAY Speed Distance
< faos w96 & A B @ B forg B F T B SIGRT R T ?

Which mirror is used by the dentists to see the teeth of the patient ?
(1) SXIST YUY/ Convex Mirror (2) @HTSA SUUT / Plane mirror
(3) atade TUYT / Concave mirror (4) T <dor / Spherical mirror

Speed = Distance x Time

frrefeiad ueret § @ feaer SuanT embiex F fvar omrer & 2

Which of the substance is used in thermometer from the following ?

(1) Arfesas / Sodium (2) N1/ Mercury
(3) vgfA=\ / Aluminum (4) FTEY / Silver

RRE S1er ¥ Rerd 99 anRoy R —

The wild life sanctuary in Sirohi district is -

(1) TOR 9T Sg 3HANRYY /' Gajner Wildlife sanctuary

(2) HIATHIAT IIRYT /' Seeta Mata Wild life sanctuary

(3) ATSUE 3MTY JHARYY / Mount Abu wild life sanctuary

(4) xTE fawemY HIRYY /' Ramgarh Vishdhari Wildlife sanctuary

TGS B MR TR Bl fbad bR BT ey & ?
How many types of crops are there on the basis of seasons ?

(1) 1 @) 2
(3) 3 (4) 4

IF HrT
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(18). M @ YEAT AIGH BT SHIE R ?
’ What is the unit of measuring the purity of gold ?
(1) @</ Karat @) =g / Newton
(3) SI&T / Joule (4) dfess / Kelvin
(19). AN g9aT & —
Nylon is made from -
(1) Q’%ﬁ?ﬁ 3T 3R A= @'ISW:T/ Adipic acid & Hexamethylene diamine
(2) TemIETer 3R B/ Alcohol and Ketone
( @Fﬂgfﬁ?{ qq BT Gl%&ld\tllss/ Cellulose and carbon dioxide
(4) RISRE E’Tﬁ@m I *(-lo“r%ﬁqv 31 / Sodium Hydroxide and Sulphuric acid-
(20). uE 59 gBR @1 fAfpar & ?
What kind of reaction is this —
NHse) +HClg————>  NH4Cls
(1) ¥IH / Addition (2) a9 / Dissociation
(3) 3TTEET/ Decomposition (4) SEATARYT /' Neutralisation
(21). velge T (g SoE) & —
Global Warming is -
(1) ATUHE BT AT/ Increase of temperature
(2) TUHI T TS/ Decrease of temperature
(3) ©T9 T §@AT/ Increase of Pressure
(4) QTd T "¥cHT / Decrease of Pressure
(22). P1fIep ST URT T & —
‘Vegetative reproduction is found in - :
(1) L / Potato (2) €. / Wheat
(3) -/ Neem : (4) e/ Pea
IF F
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(23). HME ®RR &7 el T RBrdd R BT L 7
The red colour of the human blood is due to - 7
(1) ARl / Cyanohydrin (2) EMraifas / Hemoglobin
(3) TS AW / Nitrocyanin (4) BTSN FANTSE / Hydrogen Chloride
(24). B & SUER TG UgET S ¥ —
The tablet used for the cure of Worms is -
(1) Tes=suile / Albendazole (2) B9/ Crocine
(3) WeIad{ / Flexone (@) 7R/ Metasin
(25). @R BT HAED ® —
The unit of work is - : ‘
(1) =g&1/ Newton (2) frairum / Kilogram
(3) ST/ Joule (4) dfe / watt
(26). G WA (1 wafy) & —
The audible sound is -
(1) 2HZ 20HZ /' 2HZto20 HZ
(2) 20 HZ ¥ 200 HZ /" 20 HZ to 200 HZ
(3) 20 HZH 20,000 HZ / 20 HZ to 20,000 HZ
(4) 10 HZ¥ 500 HZ /" 10 HZ to 500 HZ
(27). g w1 & —
Lemon Juice is -
(1) g&iet®d /' Conductor (2). BEATAR / Insulator
(3) 31E€aTAFH / Semi Conductor (@) grE®HET / Magnetic
(28). Yl & foIu e T & —
The escape velocity for earth is - .
(1) 10%.’4’[/@./ 10Km/Sec. _ (2) 1126/ /9. / 11.2Km/Sec.
3) 8 &+ /¥ / 8Km/Sec. 4) 5 . /9. / 5Km/Sec.
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(29).

(32).

qRe H AT TR B LRI DI A H g9 7

In which year the radio broadcasting had started in India ?

(1) 1926 H/ In 1926
(3) 1928 § / In 1928

A A BT AT qE B —
Which is not a part of human eye ?

(1) AT/ Retina
(3) gaiell / Pupil

PIT B AMHR B gacd BT & —
The funnel shaped clouds are -

(1) ER-SI/ Tornedo

(3) *retH / Neelam

IRl @7 fedAfen T gar & —
The twinkling of stars is due to -

(1) URTAC P BRI/ due to reflection
(3) fA&TguT @& HRUT/ due to dispersion

fFrafealRaa # & favel I & —

(2) 1927 §/ In 1927
(4) 1925 § /In 1925

(2) ®IfAT / Cornea
(4) E-'fg@_*!"{ / Duodenum

(2) =shaTd / Cyclone

(4) = / Tsunami

(2) *M9gdT B BRI/ due to refraction
(4) AR B & PHROT/ due to convergence

Which is the poisonous gas among the following -

(1) CO;
(3) 02

favg ggiqRor feavg &g HFR™T ST ® —

World Environment day is celebrated on -

(1) 21 ST/ 21 June
(3) 2 3fa¢ER / 2 October

2) co
(4) H:

(2) 5 S[7 / 5 June
(4) 14 Fa=R / 14 November

IF 1T
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(35). ERT # ugdd g arell T ® —
The gas used in homes is -
(1) L.P.G. (2) CN.G.
(3) CO: @) 0,

(36). 'gBNATA’ ST DT Hay foog gdg ¥ & ?
-‘Bakarwal’ tribe is related to which mountain ? .
(1) IMBIST / Rockies (2) U811/ Andes
(3) fBHTea / Himalaya (4) SRTAAT / Aravali

(37). SAMHAYSS P AT SAE B —
A Average height of Troposphere is - :
(1) 13 fFHeex / 13 kilometers (2) 13 HIER / 13 Meters
(3) 13 HIaT/ 13 Miles (4) 13 I / 13 Centimeters

(38). fiea o sy @i auf & —

Average Rainfall of world is -
(1) 200 =¥t / 200 Cm. (2) 160 HHI. / 160 Cm.
(3)91 |/ 91Cm. (4) 117 991/ 117 Cm.

(39). waMrEAar R fra TR A, el g8 ?
Mesopotamian civilization was developed in which Continent ?
(1) TRr@T / Asia (2) g9/ Europe
(3) IHIBT / Africa (4) IMRETAAT / Australia

(40). ‘UTeeR’ UeE BT HeT A S F 2 ?

‘Polder’ word is related to which country ?

(1) 3MRPBT / America (2) 9Rd / India
(3) GXATS / Netherland (4) 37198 / England
% S
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(41). eI gTH Bl UBANY —

Identify the wrong pair -

(1) U9 — ITR IMRPBT/ Prairies — North America

2) 9Ty — 3 ?ﬁ ot / Pampas — Australia

(3) IG8 — 3WIHRT/ Veld — Africa

(4) U — TR / Steppes - Asia
(42). =faRaa & 9 = sg <ol aRa #§ Rea 2 ?

Which state is situated in South India from following ?

(1) 98~ / Bihar (2) XISTRAT / Rajasthan

(3) & / Kerala (4) HEITSTT / Meghalaya
(43). DI e BT FET T B HGE T B P

Which word is related to Gangetic Plain ? ‘

(1) FEfs / Sahyadri (2) HTdR / Bhabar

(3) fBrarfera / Shiwalik (4) 9CYST / Satpura
(44). Fr=feiRad F & Si9aT ISR &7 USRiT Iy 78§ ?

Which is not a neighbour state of Rajasthan from following ?

(1) U9 / Punjab (2) 8RATUM / Haryana

(3) SN / Gujarat (4) STRMEVS / Uttarakhand
(45). YR "Ereerd & o #§ Rya & 7

Great Indian Desert is situated in which state ?

(1) XTSI / Rajasthan (2) STRYUSIT / Uttarpradesh

(3) HEIUS2T / Madhyapradesh (4) HERTYS / Maharashtra
(46). XTSI BT HIFAAT Tdd STt AT X@m & 2

Which Mountain is “Water divider line” of Rajasthan ?

(1) f&srera / Himalaya (2) 3RTGAT / Aravali

(3) H&TA / Maikal ’ (4) AAYST / Satpura

IH ST
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47). gy e e wfs © e ufeg 2 2
Jhunjhunu district is famous for which mineral ?
(l)av—\l"q?ﬂ/ Coal (Z)ﬁmﬂ'ﬁ{/ Petroleum
(3) &1/ Copper (4) ST / Zinc

(48). STV 2011 & STHR ARG § TR [ THET & —
According to census 201 1, Urban population of India is —
(1) 28 UfrereT / 28 Percent (2) 35 YfRIT / 35 Percent
(3) 31 Ufr9rd / 31 Percent (4) 26 UfTSIT / 26 Percent

(49). "HITE fABTH ABID 2014" B JIAR fopd S F U B wRyS fhar & 2
According to “Human development Index — 2014, Which Country got first rank ?
(1) FTd / Norvey (2) ¥Rd / India
(3) ST / Germany (4) STUTH / Japan

(50). T <=1 o1 wfaye erforRag & ?
Which country has uncondified Constitution ?
(l)faé:[/ Britain
(2) 9T / India
(3) mgaﬁ NI Sﬁﬁfﬁf/ United State of America
(4) EI&T9T 3MBYRT / South Africa

(51). ¥R 1 Gfaem fGaw & —

Constitution day of India is -
(1)26 RIawR / 26 September (2) 26 TR / 26 November
(3) 26 e s/ 26 July (4) 26 STEX) / 26 January

(52). Rci wider ¥ qget fha Aifers affer Ry g & ?

How many fundamental rights recognized by the Indian Constitution -

(18 @) 7
(3)5 ¢ (4) 6
I T
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(53). BITET YRT BT G TaAad o & ?

(54).

(55).

(56).

(57).

(58).

Which is the newest formed state of India ?
(1) STRTEUS / Uttarakhand (2) BANTE / Chhattisgarh
(3) AT / Telangana (4) STIREYS / Jharkhand

MRT H I BT AABR w9 oy gan ?
When was “Right to Information Act” enacted in India ?
(1) 2005 (2) 2009

(3) 2001 : (4) 2012

@S — 30" R R ?

What is “Sukhoi — 307 ?

A (1) =181 / Missile (2) faAT=IaT8® / Aircraft Carrier
(3) qﬂige_éﬁ/ Submarine (4) oTSTdR, = / Fighter Aircraft -

STTUAT 2011 & AR TSR § fofmgura & —
According to census 2011 sex ratio in Rajasthan is -

(1) 928 ARRATY Ufy &9IR WY / 928 Females per thousand male
(2) 938 HigV Uiy BOR 99 / 938 Females per thousand male
(3) 921 #fea? Ufd g9IR ™Y / 921 Females per thousand male
(4)942 ‘Tl%FIT\(’ uf 89R W/ 942 Females per thousand male

RIS JATOTfAd Sot afRareTT Rerd & 7

Rajasthan Atomic power project is situated at ?

(1) AIETYRT / Sitapura (2) 9gYET / Pachpadra
(3) YGTHIET / Rawatbhata (4) f1aTSY / Bhiwadi

fer=ferRad & | SIFAT JEOT ARTH BT IE[ENOT B —

Which one is example of Printing Media from following - :
(1) ST / Telephone (2) STH et / Journal
(3) "I / Mobile (4)ISAT / Radio

NMMSE 18 - SAT
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(59). o R H fhaq vy wnfae fey g @ 7 |
How many subject are included into “Rajya Suchi”(State List) ?
(1)66 (2) 97
(3) 47 (4) 77
(60). “FSIFRET wex FT 3t wT B ?
What is the meaning of word “Indonesia” ? .
(1) ¥R Mg/ Indian Village (2) 9IRETY EHIT / Indian Culture
(3) YR ¥Ief / Indian Land (4) YR g9/ Indian Island
(61). IR HER Rerg & ?
“Borobudur” temple is situated in -
(1) gHTAT / Sumatra (2) STrdT / Java
(3) @191 / Borneo (4) 9Tell / Bali
(62).  FreIfeifRac & <1 BRI roTdY IR AR W G @ ?
Which dynasty is related to North India from following ?
(1) Yeeld / Pallav (2) 9@t / Chol
(3) 9Tefdd / Chalukya (4) T8 / Chouhan
(63). BT P AR 39 T F R & —
Konark Sun temple is situated in state -
(1) USTTE / Punjab (2) HATE®H / Karnataka
(3) 3NFSLT/ Orissa ‘ (4) EI%?FY{/ Kerala
(64). UIIUT B Y2H TS el TS off ?
The first battle of Panipat was fought in
(1) 1526 . (2) 1626
(3) 1426 (4) 1326
(65). Eoarene! fhas forw ulReg & 7
“Haldighati” is famous for - '
(l)?‘fﬁ/ Agriculture (2) = / Battle
(3) ST/ Industry (4) 9TeT / Dam
IH HT
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(66). ARG fher Rug & ?

Sonargarh fort is situated at -

(1) STIYR / Udaipur (2) STAYR / Jaipur

(3) SIRIGTHR / Jaisalmer (4) IIS™R / Barmer
(67).  “omet fdrar” @1 o fas earar ?

“Red fort™ was constructed by - :

(1) TTESIET / Shahjahan (2) CT8 "R/ Jahangir

(3) AHaY / Akbar (4) 'g"’ﬁll/ Humayun
(68). “fasiy w1 @wel Rea € ?

“Vijay Stambh™ is situated in -

(1) ¥IeTdTST / Bhilwara 2) ?UTQTmﬂ?/ Ranthambore

(3) RiieTE / Chittorgarh (4) STRIYR / Jodhpur
(69).  SAAAT B oo zﬁ*ﬁqﬁrvﬁ#ﬁnﬁ%‘?

© Jyotiba Phule is kiownias . ..o sesin s sossess

(1) IT&ET / Fighter (2)311‘?1'-%11/ Actor

(3) TSTHIAT / Politician (4) FHTST YRS / Social Reformer
(70). o fdvg gg H9 YW oI o ?

First World war started in -

(1) 1914 (2) 1916

(3) 1918 (4) 1913

/ i)
71). _lJ[ LR e
2 |\ 3) 7
< i 1Y 21

Value of —:—“ - ]+7}s cqual to-

] l | 2) .

(1) 7 ( 7

3 -3
3) = 11 P
(3) - (4) 2
TF HF
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(72). 2§+% BT A BN —
.1 3.
Value of 2—+= isequal to -
5 5
10 9
(1) — , 2 -
3 3
33 11
3) = 4) —
(3) 10 (4) 3
(73).  F=feRad # & Hi=e wear gof g9 78 & —
Which of the following are not perfect Cube -
(1) 27000 (2) 1000
(3) 125 (4) 900

(74). 35T 9 T Rerrs 7T 2500 wUd F @WhE B 3000 WO H 47 ST O 31T BT AR

gferera s SIfse —

Ajay bought a sewing machine for 2500 Rupees and sold it for 3000 Rupees. Find his gain
percent.

(1) 15% (2) 16%

(3) 20% (4) 25%

(75). 832 % 8 T YJUr 3fp BNIT —
Poorven digit of 8 in number 832 is equal to -
(1)8 2)3.
(3)2 40

(76). fB=0 9 99 g1 § UAS A DIV BT A BT & —

~ The value of each interior angle of a regular pentagon is equal to -

(1) 50° (2) 108°
(3) 72° (4) 135°
6 &
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(77). f&d A B § £A=80°TAT AB=ACE Al £B d £C &I HIY T DY —
In given triangle £ A = 80° and AR = AC than find the value of £B and £C

80"

B '3,
(1) £B=70°, £C=70°, ; (2) £B=60°, £C=60°,

(3) £B=80°, £C=80°, (4) £B=50°, £C=50°,

(78). Tf& 15:x:18:12 B Al x T AF BIT —
If 15:x::18:12 than the value of xis -
(1) 15 )17
(3) 20 4) 10

(79). gt @ gF [ T T 15,00,00,000 HHAL B TH GBI ANMD Heberd H A

Distance of the Sun from the Earth is approximately 15,00,00,000 km. value of this distance in
scientific notations is equal to -

(1) 1.5 x 10% fHHT (Km) (2) 15 x 10® fHT (Km)

(3) 1.5 x 10 f&#T (Km) (4) 1.5 x10° & (Km)

(80). X p|lgTAT g|| B T BT x BT AT BN —

If p|lgand g || rthan value of angle x is —

n
T,

65°
2 / o n
< & > r
(1) 115° l/ (2) 25°
(3) 65° (4) 30°
IH Hr
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(81). A T Rt & BIor x @7 7T BT — ches
Value of Angle x in given figure is - '
(1) 65° 2) lise - >
(3) 75° (4) 30° A B

(82). 35%%wmﬁq%ﬁﬁzamgqﬁﬁm§ﬁﬁvﬁ~
Distance covered by rotating a wheel of radius 35 meter in 2 rotations is -
(1) 420 meter . (2) 220 meter
(3) 320 meter (4) 440 meter

(83).  x+y+zUTT &RA & fIT 75 -8y H A T Hemy TRy —
What should be subtracted from 7x—8 Yy toget x+y+z -
(1) =6x+9y—=z (2) 6x-9y—z
(3) -6x+9y+z (4) x+y+z

(84). R a=23R b=38T A > —ab+bPr 7 BRI —

If a=2and b=-3 than value of a* —ab+5? is -
(1) 19 2)7
3) 1 (4)-11

(85). %mﬁqﬁmw%@ﬁﬁﬁaﬁa@%ﬂm%—

A simple closed curve made up at three or more than three line segments is called -
(1) T (sphere) (2) 98957 (polygon)
(3) I<T (Circle) (4) Td_ (cone)

(86). Wﬁ@r%4ﬂﬁﬁwa¥m4ssﬁm%‘,a¥a€msﬁﬁe

7 more than 4 times of a number is 43. Than the number is -

(14 (2)7
(3)9 (4) 43
I HRY
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(87). Wwaﬁmzsoooﬁawzssooﬁaﬁﬂéﬁmﬁmqﬁg
2rfl —
If the population of a town increases to 26500 from 25000 than the percentage growth in
population is -
(1) 15% (2) 6%
(3) 9% (4) 10%

(88). 3(n—15)=21T 81 BT —
Solution of 3(n—15) =21is equal to -
(1) 15 (2).21
3)7 (4) 22

(89). V& JATHR 9309 &1 AT 14 Hex B | SHBT &F%hel BT —
The diameter of a circular garden is 14 meter. Than the area of garden is-
(1) 98.56 m? (2) 154 m?
(3) 49 m? (4) 196 m*

(90). AT 3, 4, 8, 5 x, 3 BT BT THR ARG 4 & AT » BT 7T BT —
If arithmetic mean of digits 3, 4, 8, 5, x, 3 is 4 than the value of x is

(1 . (2)2
3)3 4)4
IF HRT
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